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Test One

Part 1

® & —

Listening Comprehension

Section A

Directions ; In this section,you will hear 10 short conversations. At

Example .

the end of each conversation, a question will be asked
about what was said. Both the conversation and the
question will be spoken only once. After each question
there will be a pause. During the pause, you must
read the four choices marked A), B), C) and D),
and decide which is the best answer. Then mark the
corresponding letter on the Answer Sheet with a single

line through the center.

You will hear:
You will read :
A) At the office.
B) In the waiting room.

C) At the airport.



D) In a restaurant.

Sample Answer A7 [(B] [C] [D]

From the conversation we know that the two were
talking about some work they have to finish in the
evening. This is most likely to have taken place at the
office. Therefore, A) “At the office” is the best
answer. You should choose [A] on the Answer Sheet

and mark it with a single line through the center.

Now, listen to the conversations.

. A) 380. C) 130.
B) 260. D) 190.

. A) Drive her over there. C) Let her give him a ride,
B) Borrow her car. D) Get his car repaired.

. A) A policeman. C) A driver.
B) A lawyer. D) A manager.

. A) Because it is fashionable.
B) Because she dislikes long hair.
C) Because it is difficult to keep long hair.

D) Because it is safer when she is working.

. A) The woman is an engineering student.
B) The woman is a non-engineering student.

C) The woman will be very busy tomorrow.

020



D) The woman is a teacher of science.

. A) She was sorry for losing the chance.
B) She planned to make it up.

C) She didn’t like music.

D) She regarded it as unimportant.

. A) Today is warm.
B) Yesterday was warmer.
C) Yesterday was warm.

D) Yesterday was colder.

. A) The warm weather.

B) Best materials for making clothes.
C) Things to wear.

D) A bright shirt.

. A) At the theater.

B) At the department store.
C) At the railway station.
D) At the restaurant.

10. A) Bill repaired the tire himself.

B) Bill paid to have his motorcycle fixed.

C) Bill was silly to have waste his money.

D) Bill now works in a garage.



Section B

Directions ;

Passage 1

In this section, you will hear 3 short passages. At the
end of each passage you will hear some questions.
Both the passage and the questions will be spoken only
once. After you hear a question, you must choose the
best answer from the four choices marked A), B),
C) and D). Then mark the corresponding letter on
the Answer Sheet with a single line through the

center.

Questions 11 to 14 are based on the passage you've just heard.

11. A) Wherever they are working.
B) In school.
C) Wherever they are living.

D) At home.
12. A) 10 hours. C) 30 hours.
B) 15 hours. D) 20 hours.

13. A) TV children are usually good pupils.

B) Their lessons are held in many interesting places.

C) It is easy to teach them.

D) The pupils often become famous stars.

14. A) Famous TV Stars.
B) Educating TV Children.
C) Child Actors.

o 4.



D) TV Children’s Life.
Passage 2
Questions 15 to 17 are based on the passage you've just heard.
15. A) It would be for all members of a family.

B) It would be a clean place.

C) Children would be enjoying the rides and games there.
D) Parents of small children would have nothing to do

there.
16. A) In California. C) In Chicago.
B) In Washington. D) In New York.
17. A) It was good. C) It was crazy.
B) It was dangerous. D) It was practical.
Passage 3

Questions 18 to 20 are based on the passage you've just heard.

18. A) To hold wine for the wine festival.
B) To hold water for the villagers.
C) To hold wine for the guests.
D) To hold water for cooking.

19. A) To put sugar in. C) To put water in.
B) To put wine in. D) To put nothing in.
20. A) Pure water. C) Good wine.
B) Water and wine. D) Nothing.



Part 1 Vocabulary and Structure

Directions: There are 30 incomplete sentences in this part. For

21.

22.

23.

24.

25.

each sentence there are four choices marked A), B),
C) and D). Choose the ONE answer that best
completes the sentence. Then mark the corresponding

letter on the Answer Sheet with a single line through

the center.
Peter’s jacket cost  Tom’s.
A) twice more than C) two times more as
B) twice as much as D) twice more as

The transportation director favors repairing existing highway

systems  new highways.

A) rather than to build C) instead of to build

B) other than building D) rather than building

After much negotiation we have  the terms of the
contract.

A) agreed C) agreed to

B) agreed on D) agreed with

All passengers are  to show their tickets before they
board the plane.

A) required C) acquired

B) inquired D) inspired

I think Tom should have invited Mary to the party, 2
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26.

217.

28.

29.

30.

31.

A) don’t you C) shouldn’t he

B) don’t ] D) should he
Child ~ , he knew that was the right thing to do.
A) as he were C) he had been
B) though he was D) as he was
Martin had with him equipment for a small
laboratory.
A) respective C) efficient
B) sufficient D) familiar

Most doctors agree that exercise improves the circulation of
the blood; there are doctors who believe that

excessive exercise may do some damage.

A) on the contrary C) on the other hand

B) otherwise D) therefore

She _ to attend the conference but she changed her
mind.

A) planned C) had planned

B) would plan D) did plan

The date of our tripis ~ my firm’s vacation schedule.
A) subject to C) subjected to

B) promoted to D) based on

Until recently, land in large areas of Stockholm belonged
either to the crown or to the city; there was  thing as

private ownership of land.
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32.

33.

34.

35.

36.

37.

A) no such a C) no such

B) not such D) not any

Is there anything else you’d like ~ you don’t see on the
shelves?

A) which C) that

B) what D) as

A long walk in bad weather won’t hurt Jack; he’s very

A) solid C) strict
B) rough D) tough

By the time the applicant makes up his mind, the offer

A) will be postponed C) will be declined

B) will be cancelling D) will have been cancelled
The boy cannot ~ the meaning of the long sentence.
A) make of C) make for
B) make from D) make out

The traveller entertained his host with stories, some of

which were really could be believed.
A) much more C) more than they
B) more than D) worse than

I hope all the precautions against air pollution,
suggested by the local government, will be seriously
considered here.
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38.

39.

40.

41.

42.

43.

A) while C) after
B) since D) as

The author thanks all those who have helped to make this a
better book thanit

A) should be C) would have been
B) would be D) would otherwise have
been
It is necessary that every member ~ these rules.
A) be informed of C) should inform
B) inform D) inform of
The police offered a $1 500 = to anyone who would
give useful information about the robbery.
A) price C) prize
B) reward D) award
Mr Green spent the weekend in the country ashe  to

the office on Saturday.
A) needn’t have gone C) mustn’t go

B) wasn’t necessary to go D) didn’t have to go

Our son doesn’t know what to  at the university, he

can’t make up his mind about his future.

A) take in C) take over
B) take up D) take after
That is impossible, because ~ he was in the United

States of America at the time.
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